Al moio| rz7t - ol=al, &
=
5 — I
2k
=1
=
: VX HE - Tolgx g, 2 & 0|8
(keI : 7H%=, uiokel
M 3 AH = of AF oM
T HUSE | Goixim | MEAL! | 10 ALK o AL = 7t
11 34 117 | 490,834 | 448,566 42 268
1 3 12 39,451 34,618 4,833
3 7 16 70,552 70,112 440
EX| e o} 2 4 10 3,704 3,346 358
2 5 27 204,849 | 179,657 25,192
R HEFR) o} 2 10 24 146,853 | 140,742 6,111
T2 2| At 1 5 28 25,425 20,091 5,334
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SN XISSAD
H: XAME DN (ZELXISNL/ AL SAI

ol XISRE N EEREN
SH -3 . (3H) - NIFEAY - BES Ol &4 I8 Hus2

XIS S Al Dt 39,451,434 34,618,005 4,833,429

= 6,047,000 4,444,000 1,603,000

= 27,642,000 26,150,000 1,492,000

= 57,976 0 57,976

= 1,126,953 0 1,126,953

< 4,577,505 4,024,005 553,500

NHAE RENL(REUXIHIHL/TIALSAI 39,027,829 34,194,400 4,833,429

= 6,047,000 4,444,000 1,603,000

Z 27,642,000 26,160,000 1,492,000

= 57,976 0 57,976

2 1,126,953 0 1,126,953

= 4,153,900 3,600,400 553,500

oRE N 39,027,829 34,194,400 4,833,429

2 6,047,000 4,444,000 1,603,000

= 27,642,000 26,150,000 1,492,000

= 57,976 0 57,976

= 1,126,953 0 1,126,953

< 4,153,900 3,600,400 553,500

AR REAY 2S5 110,000 90,000 20,000

201 Qo2 80,000 60,000 20,000

01 AbR22lHI 60,000 40,000 20,000

OArAZ XHEIZ 2R30002] B 20,000 0 20,000

REHeI Tt PH(2D) 8,522,653 5,517,200 3,005,453

= 5,689,000 4,244,000 1,445,000

= 1,126,953 0 1,126,953

= 1,706,700 1,273,200 433,500

403 REXISRISKHEO0IH 8,522,653 5,517,200 3,005,453

2 5,689,000 4,244,000 1,445,000

= 1,126,953 0 1,126,953

< 1,706,700 1,273,200 433,500

01 XXIEHREEE 8,522,653 5,517,200 3,005,453

OXIEN Q1Zat 1 7,395,700 5,517,200 1,878,500

= 5,689,000 4,244,000 1,445,000

= 1,706,700 1,273,200 433,500

OXIEN QAFAIL HIAYS 1,126,963 0 1,126,953

= 1,126,953 0 1,126,953

22 HREHO HHE 100,000 0 100,000

308 XHXISHHISOIR 100,000 0 100,000

01 XXSHZAEES 100,000 0 100,000

OL NZEMHO AL ASK 223l Ha 100,000 0 100,000

SAEHSTXSY SHAK WA (2D) 2,542,000 1,060,000 1,492,000

Z 2,542,000 1,060,000 1,492,000

403 RXISHSKHZ0IF 2,542,000 1,060,000 1,492,000

Z 2,542,000 1,060,000 1,492,000

01 XIXISHHIREEE 2,542,000 1,060,000 1,492,000
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XIALS RENL(RELXIHIHL/XIHY

ANEZENE

2N -Z2-G(3) - HRAY - BES Ol &t 24 JEA Hlus2
OZAEESAIXSE HL AL 2,542,000 1,050,000 1,492,000
= 2,542,000 1,050,000 1,492,000
28 HEIsh S (S|AE)(=1) 215,976 0 215,976
= 158,000 0 158,000
= 57,976 0 57,976
403 XXISMSAHZ01H 215,976 0 215,976
= 158,000 0 158,000
£ 57,976 0 57,976
01 AXHMA=EX 215,976 0 215,976
O2g8 t&Ilsh SR(2AIE) 215,976 0 215,976
= 158,000 0 158,000
£ 57,976 0 57,976
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